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Answer the following questions:

Maximum marks:20

1. Match lists I and II and select the correct answer using the codes below in

the lists: 1
List | List 1T
a. Iron and Steel [ Light Industry
b. OIL II Joint Sector Industry
c. Watch Manufacturing [II Agro-based Industry
d. Jute Textile IV Mineral-based Industry
Options —
A. a-1I1I, b- I, c-1I1, d-1V
B. a-IV, b-11, c-1, d-III
C.a-1,b-1II,c- I, d- IV
D. a-I, b- IV, c- 11, d- I

2. Read the following statements and identify the correct answer from the

options given below:

Assertion(A): Agriculture and Industry are not exclusive of each other.

Reason(R): Industrial development is a precondition for eradicating

unemployment and poverty in our country.

A. Both (A) and (R) are true and (R) is the correct explanation of (A).

B. Both (A) and (R) are true but (R) is not the correct explanation of (A).
C. (A) 1is true but (R) is false.

D. (A)is fa

Ise but (R) is true.




7.

. ‘Weaving is highly decentralized in India.’ Identify the correct reason from

the options given below about weaving being decentralized in the country.
1
A. To provide scope for incorporating traditional skills and designs of
weaving.
B. To expand the profit in the industry.
C. To modernize the industry.
D. To attract foreign investment and expand business.

Name the two main products obtained from the sugar industry, that India
leads in production in the world. 2

. Why are most iron and steel industries in India located in the Chhotanagpur

Plateau region? 3

‘Although industries contribute significantly to India’s economic growth and
development, the increase in pollution of land, water, air, and noise results in
degradation of the environment.” Suggest and elaborate five ways in which

environmental degradation by industries can be controlled. 5

Read the passage carefully and answer the following questions: 4

The fertilizer industry is centred around the production of nitrogenous fertilizers

(mainly urea), phosphatic fertilizers and ammonium phosphate (DAP), and
complex fertilizers which have a combination of nitrogen (N), phosphate
(P), and potash (K). The third, i.e. potash is entirely imported as the country does
not have any reserves of commercially usable potash or potassium compounds in
any form.
1. Name the event that led to the expansion of the fertilizer industry in India. 1
i1. State the products of the fertilizer industry.
i11. ‘Potash is entirely imported.” Give a reason for the mentioned statement.

8. On the given political map of India, locate and label any 3 of the following
with suitable symbols: 3

1. Mumbai Sea Port.
2. Bokaro Coal Mine
3. Major Sugarcane Producing state of India
4 Sardar Sarovar — Dam on River Narmada.



PLEASE NOTE:

* You are advised against doing selective study.

* The questions given above are sample questions for practice prior to the
Board examination.

* Although Answer Keys will be provided, you are advised to answer them
yourself. Submission is NOT required.

* In case you have queries regarding the portion of the chapters being revised
here, you may send your query to your teacher through the Chat section in
MS Teams.

* Answer Key to Set V of Geography questions will be posted on 04.02.2025

(Tuesday).



